1212800515 = —
12.2 1 EBMR =
122 22 EHE = 12. 238H94R T —
122.3HE =

12.3.MIERE =

123285 = 12 MEREFNES al y—
12.3.3— "Mix-infIEE X6 (BREE) =
124838 =
1251 FAETE =
} 12.5FABZEEF_slots_JBMH —
12.5.2_slots_J@lt =
12.6.1_init_EERE =
12.6.2_new_BERE = 12.6EERE —
12.6.3_del_BERE =
11.Itry-exceptiidkMERE =
N2RENHRE = g%
N3EMPERFE =
1013 HERE—LE753E =
10.2withiBOH F P EEE = 10K ATZ
10.3pickle (python{IEFFIL) =
9.BNRERE =
9.2(IBSH =
922KBFEH =
9.2 UBSHIXEFSIHBEEHERA = 9. 2BREHISE
9.2.4B0\88 =
9.25ESH =
9.3 WEFEER =
9328 = 9.3{EF1a, 9.k

9.3.3%0mz8 =

9.4lambdaKiA, (ERZHEE)

9.54 B2

9.61BIFREL =

9.7 1EREIA

9.7.23BFR = 9. 7EREE, KELIRNRE
9.73HEF =

9SEMES =

python{ TS

o LIA—NINEERAEAERROFFE =
| Fpythonigit#— st |

1280 /N, =
21882 =
2 TRIFHE B
22F /R =
3I1EEH =
32FmE =
3.8FR 3358 =
3AHFZENEE =

3.5boolZEE =

419 =

4 2 lwhilefBIREE =
4. 2185 {
4.2 2forf@hesty =

4. D 51ER {

— 5.115FKR5| =

—~ 51.25FRE =
— SIFIREAREF —
— 5135IF75E (. M. X ') =

- S51LAPIRANEE (INEMEEE) =
5 pIRRTE [ SRR =
— 5.3RENMEEN =

— 5.45FRHES =

— 5.550H =
— bLIKNERIESE =
— 6.1 2EEFEMTFTIE =
— 6138 EE =
— 61 4B =
6. FFEB = — 6IFFEHE —

— 6.1.5¥Iif75E (REIRIEEFERZbooZEERI(E)
— 6. 1L6EEGE =
— 6.1.7IRDFIESE =

= 61 BIBHNUFFRERE =

TI\FEARNE =
7575 —[ )
7. 2iRFFHIIFBRAY—LEREL =

8.1IFEERIEIE =

8.1.27FHAIE. . X B =

81FH = 8.1. 3= HRVEth /5 AFORREN
8.1 AFHAGHTHRE =
8.1.5HEER =

B.2IRIEES =

825/ = 8.2 2680A% =

8.2 .34 nJZEESfrozenset =



